Jefferson County Public Schools

Bid Tabulation

Event Name: PAPER (MATERIALS PRODUCTION)

Event ID: JCPS-8464

Approval Date: July 8, 2025
Date Bids Received: June 10, 2025
Contract Period: July 26, 2025 through January 25, 2026

Renewals: No renewal option

Comments: Award Status indicates an award

Item Number	Item/Service	Description	Commodity Code	Vendor Name	No Bid	UOM	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Award Status	Award Notes
001	Paper, 65# white, cover smooth, Accent Opaque Digital.	12" x 18" short grain, 1,250 sheets per box. A total of 100,000 sheets may be purchased. PLEASE PRICE PER 1,000 (M).	5760240-2013916	The Millcraft Paper Company	No	1000 - Count	100	Sylvamo/Millcraft	AB3628	\$64.9600	\$6,496.0000		Awarded	
001	Paper, 65# white, cover smooth, Accent Opaque Digital.	12" x 18" short grain, 1,250 sheets per box. A total of 100,000 sheets may be purchased. PLEASE PRICE PER 1,000 (M).	5760240-2013916	Veritiv	Yes	1000 - Count	100							
001	Paper, 65# white, cover smooth, Accent Opaque Digital.	12" x 18" short grain, 1,250 sheets per box. A total of 100,000 sheets may be purchased. PLEASE PRICE PER 1,000 (M).	5760240-2013916	Athens Paper Company	No	1000 - Count	100	Sylvamo	188094	\$68.7000	\$6,870.0000	Terms: NET 30 days - Athens# 388094		
Lot Item	Item/Service	Description	Commodity Code	Vendor Name	No Bid	UOM	Quantity	Manufacturer / Provider	Manufacturer Part	Unit Bid Price	Total Price	Vendor Response Item Notes	Award Status	Award Notes
Lot Item Nos. 2-3	Item/Service Paper, 50# smooth offset text.	Description Williamsburg or Husky, NO SUBSTITUTE. 11" x 17" long grain, 92 brightness or brighter. Acid free, ream wrapped, 2,500 sheets per carton. A total of 1,000,000 sheets may be purchased. Meets the ANSI/NISO Z39.48-1992 requirement for paper permanence and National Association of State Textbook Administrators (NASTA) specifications. PLEASE PRICE PER 1,000 (M).	Commodity Code 5760240-2011887	Vendor Name Athens Paper Company	No Bid	UOM 1000 - Count	Quantity 1000	Manufacturer / Provider Slyvamo	Manufacturer Part Number 5317	Unit Bid Price \$20.7000	Total Price \$20,700.0000	Vendor Response Item Notes TERMS: NET 30 days - Athens# 314560		Award Notes
Nos. 2-3		Williamsburg or Husky. NO SUBSTITUTE. 11" x 17" long grain, 92 brightness or brighter. Acid free, ream wrapped, 2,500 sheets per carton. A total of 1,000,000 sheets may be purchased. Meets the ANSI/NISO Z39.48-1992 requirement for paper permanence and National Association of State Textbook Administrators (NASTA)		Athens Paper	-			Provider	Number			TERMS: NET 30 days -	Status	Award Notes

003	Paper, 60# smooth offset text.	Williamsburg or Husky. NO SUBSTITUTE. 11" x 17" long grain, 92 brightness or brighter. Acid free, ream wrapped, 2,500 sheets per carton. A total of 1,500,000 sheets may be purchased. Meets the ANSI/NISO Z39.48-1992 requirement for paper permanence and National Association of State Textbook Administrators (NASTA) specifications. PLEASE PRICE PER 1,000 (M).	5760240-2011888	The Millcraft Paper Company	No	1000 - Count	1500	Domtar/Millcraft	AB1961	\$24.4300	\$36,645.0000			
002	Paper, 50# smooth offset text.	Williamsburg or Husky. NO SUBSTITUTE. 11"x 17" long grain, 92 brightness or brighter. Acid free, ream wrapped, 2,500 sheets per carton. A total of 1,000,000 sheets may be purchased. Meets the ANSI/NISO 239.48-1992 requirement for paper permanence and National Association of State Textbook Administrators (NASTA) specifications. PLEASE PRICE PER 1,000 (M).	5760240-2011887	Veritiv	No	1000 - Count	1000	Sylvamo - Willamsburg	Part Number - 5317	\$22.5000	\$22,500.0000	We have seen an increase on this item right after we won the business last year. That is the reason for the increase.		
003	Paper, 60# smooth offset text.	Williamsburg or Husky. NO SUBSTITUTE. 11" x 17" long grain, 92 brightness or brighter. Acid free, ream wrapped, 2,500 sheets per carton. A total of 1,500,000 sheets may be purchased. Meets the ANSI/NISO Z39.48-1992 requirement for paper permanence and National Association of State Textbook Administrators (NASTA) specifications. PLEASE PRICE PER 1,000 (M).	5760240-2011888	Veritiv	No	1000 - Count	1500	Sylvamo - Williamsburg	5327	\$26.5000	\$39,750.0000	We have seen an increase on this item right after we won the business last year. That is the reason for the increase.		
Lot Item								Manufacturer /	Manufacturer Part				Award	
Nos. 4-6	Paper, 80# white coated cover.	Description Endurance Digital gloss cover or equal. 12" x 18",	5760240-2013352	Vendor Name The Millcraft Paper	No Bid	UOM 1000 - Count	Quantity 300	Provider ProDigital/Millcraft	Number AJ2573	\$69.6200	\$20,886.0000	Vendor Response Item Notes	Status	Award Notes Reject - incomplete
004	raper, dom wille Coaled Cover.	short grain, ream wrapped, 250 sheets per package, 2,500 sheets per carton. A total of 300,000 sheets may be purchased. PLEASE PRICE PER 1,000 (M). IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	3700240-2013332	Company	NO	1000 - Count	300	F100/grtay Willicast	R2373	3 03.0200	320,800.0000			coverage for Lot Item Nos. 4-6
005	Paper, 100# white coated cover.	Endurance Digital gloss cover or equal. 12" x 18", short grain, ream wrapped, 250 sheets per package, 2,500 sheets per carton. A total of 300,000 sheets may be purchased. PLEASE PRICE PER 1,000 (M). IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760240-2013353	The Millcraft Paper Company	No	1000 - Count	300	Prodigital/Millcraft	AJ2579	\$87.5600	\$26,268.0000			Reject - incomplete coverage for Lot Item Nos. 4-6
006	Paper, 100# white coated text.	Endurance Digital gloss text or equal. 12" x 18", long grain, ream wrapped, 250 sheets per package, 2,500 sheets per carton. A total of 300,000 sheets may be purchased. PLEASE PRICE PER 1,000 (M). IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760240-2013354	The Millcraft Paper Company	Yes	1000 - Count	300							Reject - incomplete coverage for Lot Item Nos. 4-6
004	Paper, 80# white coated cover.	Endurance Digital gloss cover or equal. 12" x 18", short grain, ream wrapped, 250 sheets per package, 2,500 sheets per carton. A total of 300,000 sheets may be purchased. PLEASE PRICE PER 1,000 (M). IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760240-2013352	Veritiv	No	1000 - Count	300	Veritiv - Endurance	V05736	\$71.1200	\$21,336.0000	If no stock is on the floor- lead time is 5 weeks	Awarded	

005	Paper, 100# white coated cover.	Endurance Digital gloss cover or equal. 12" x 18", short grain, ream wrapped, 250 sheets per package, 2,500 sheets per carton. A total of 300,000 sheets may be purchased. PLEASE PRICE PER 1,000 (M). IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760240-2013353	Veritiv	No	1000 - Count	300	Veritiv - Endurance	V05239	\$88.8700	\$26,661.0000	If no stock is on the floor - lead time is 5 weeks	Awarded	
006	Paper, 100# white coated text.	Endurance Digital gloss text or equal. 12" x 18", long grain, ream wrapped, 250 sheets per package, 2,500 sheets per carton. A total of 300,000 sheets may be purchased. PLEASE PRICE PER 1,000 (M). IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.		Veritiv		1000 - Count	300	Veritiv - Endurance	V05752	\$47.7300	\$14,319.0000	If no stock is on the floor - lead time is 5 weeks	Awarded	
004	Paper, 80# white coated cover.	Endurance Digital gloss cover or equal. 12" x 18", short grain, ream wrapped, 250 sheets per package, 2,500 sheets per carton. A total of 300,000 sheets may be purchased. PLEASE PRICE PER 1,000 (M). IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760240-2013352	Athens Paper Company	No	1000 - Count	300	Moorim	396935	\$74.0000	\$22,200.0000	TERMS: NET 30 days		
005	Paper, 100# white coated cover.	Endurance Digital gloss cover or equal. 12" x 18", short grain, ream wrapped, 250 sheets per package, 2,500 sheets per carton. A total of 300,000 sheets may be purchased. PLEASE PRICE PER 1,000 (M). IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760240-2013353	Athens Paper Company	No	1000 - Count	300	Moorim	396935	\$93.0000	\$27,900.0000	TERMS: NET 30 Days		
006	Paper, 100# white coated text.	Endurance Digital gloss text or equal. 12" x 18", long grain, ream wrapped, 250 sheets per package, 2,500 sheets per carton. A total of 300,000 sheets may be purchased. PLEASE PRICE PER 1,000 (M). IF BIDDING THE APPROVED PRODUCT, NO SAMPLE IS REQUIRED.	5760240-2013354	Athens Paper Company	No	1000 - Count	300	Moorim	367902	\$49.5000	\$14,850.0000	TERMS: NET 30 Days		
Lot Item Nos. 7-8	Item/Service	Description	Commodity Code	Vendor Name	No Bid	иом	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Award Status	Award Notes
007	Paper, 60# white, high gloss permanent laser label.	12" x 18", 500 sheets per box. A total of 50,000 sheets may be purchased. PLEASE PRICE PER 1,000 (M).	5760240-2013355	The Millcraft Paper Company	No	1000 - Count	25	Mactac/Millcraft	AF6327	\$434.7500	\$10,868.7500		Awarded	
008	Paper, 60# white, matte permanent laser label.	Showcase Digital 72# liner. 12" x 18", 500 sheets per box. A total of 50,000 sheets may be purchased. PLEASE PRICE PER 1,000 (M).	5760240-2013356	The Millcraft Paper Company	No	1000 - Count	25	Mactac/Millcraft	AF6328	\$390.6200	\$9,765.5000		Awarded	

007	Paper, 60# white, high gloss permanent laser label.	12" x 18", 500 sheets per box. A total of 50,000 sheets may be purchased. PLEASE PRICE PER 1,000 (M).	5760240-2013355	Athens Paper Company	No	1000 - Count	25	Mactac	TBD	\$440.0000	\$11,000.0000	TERMS: NET 30 Days - Athens# 931000		
008	Paper, 60# white, matte permanent laser label.	Showcase Digital 72# liner. 12" x 18", 500 sheets per box. A total of 50,000 sheets may be purchased. PLEASE PRICE PER 1,000 (M).	5760240-2013356	Athens Paper Company	No	1000 - Count	25	Mactac	TBD	\$440.0000	\$11,000.0000	TERMS: NET 30 Days - Athens# 318534		
Lot Item Nos. 9-10	Item/Service	Description	Commodity Code	Vendor Name	No Bid	UOM	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Award Status	Award Notes
009	Envelope, #10, 4 1/8" x 9 1/2".	Commercial, open side, diagonal seam, regular,	5690280-2013586	The Millcraft Paper	No	1000 - Count	252	Standard/Millcraft	TD28	\$22.0400	\$5,554.0800		Awarded	
		24# White Wove, packaged approx. 500/box, 2,500/case. PLEASE PRICE PER 1,000 (M). SAMPLE REQUIRED.		Company										
010	Envelope, #10 (Digital) with window, 4 1/8" x 9 1/2".	Commercial, open side diagonal seam, regular, 24# White Wove, packaged approx. 500/box, 2,500/case. PLEASE PRICE PER 1,000 (M). SAMPLE REQUIRED.	5690280-2013587	The Millcraft Paper Company	No	1000 - Count	126	Standard/Millcraft	WD28	\$28.9700	\$3,650.2200		Awarded	
009	Envelope, #10, 4 1/8" x 9 1/2".	Commercial, open side, diagonal seam, regular, 24# White Wove, packaged approx. 500/box, 2,500/case. PLEASE PRICE PER 1,000 (M). SAMPLE REQUIRED.	5690280-2013586	Athens Paper Company	No	1000 - Count	252	Cenveo	28439	\$28.5000	\$7,182.0000	TERMS: NET 30 Days Athens# 828460		
010	Envelope, #10 (Digital) with window, 4 1/8" x 9 1/2".	Commercial, open side diagonal seam, regular, 24# White Wove, packaged approx. 500/box, 2,500/case. PLEASE PRICE PER 1,000 (M). SAMPLE REQUIRED.	5690280-2013587	Athens Paper Company	No	1000 - Count	126	Cenveo	73896	\$35.5000	\$4,473.0000	TERMS: NET 30 Days Athens# 805293		

Jefferson County Public Schools

Award Summary
Event Name: PAPER (MATERIALS PRODUCTION)
Event ID: JCPS-8464

Approval Date: July 8, 2025

Vendor	Bid Total	Award Total
Athens Paper Company	\$162,625.0000	\$57,150.0000
	·	. ,
The Millcraft Paper Company	\$140,813.5500	\$36,334.5500
Veritiv	\$124,566.0000	\$62,316.0000